—_—yrr Ke\{)é

Math 202 Calculus I1

All electronic devices must be turned off and put away (e.g. cellphones, calculators, etc.). Keep your
eyes on your own paper and do not talk to other students. Answer all of the following questions. Show all
of your work and put boxes around your final answers. If you need more room, you may continue your work

on the backs of the pages. Good luck!

1. (18 points) Evaluate the following limits.
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2. (18 points) Evaluate the followir'}‘g integrals.
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3. (7 points) At what point of the curve y = cosh z does the tangent line have slope 17
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4. (7 points) Prove that Ed; [sec™!z] =
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